FR21EE BAREBEFFERNARTYNR—ILAETREIR F&
REABR X =i R

# A TR215F4R24H(£)-25H(1)-26 H(R)
5 Fr AMEENEAEEE
<BFo#H> (11%:5m) <EZFOH> (10%x5m)
1EE 1EE
18 13 E: 29 — 10 e
wEAEE 93 { 2 C VL s mmkm B AW w125 {2 7 0L a2 mmms  EER OB
28 — 25 fhHE B 4 — 6 b7 3
27 — 16 IE 18 — 11 F
+REZ 97 { 20 -0 } 86 mawm 2N B wews s |4 T2 s mmp— TR RO
27 — 24 WEE = 21 — 21 BR F
39 — 20 FE
N 31 — 13 EF
WAL 147 {47 - ]6} 75 ERWE 2
30 — 26 &m  #®
2[E B 2[E B
21 — 30 Ijii 22 — 15 ?
EBIE 105 { 2 - % } 101 wHEg-  HE T twgE= 102 0 2T 7L 54 g G AW
26 — 19 BEH 26 — 20 (=7 B
24 — 20 E \ 19 — 14 =
AWES 92 {gg - fg} 5 EwmE SR R | samk 7 {13 - 13} 5 tmm- B
23 — 17 HR FER 25 — 14 RER B
29 — 12 FE 25 — 17 EE_
ik 84 { ;g - :g }’ 99 THE= Efgﬁ % THWE= 105 gg _ 185 60 WHb R EIJéF "
10 — 20 Ar Hib 31 — 20 EE 1E1T
22 — 18 FE 47 — 5 3
LS 72 { uo-u } 0 dwwd PEEA ) oqmm o1es (X C 2 L 1e mew  ATEN
12 — 14 XE B 0 — 7 &m R
#E R R
20 — 28 Ex: 34 — 15 B
LWI% 105 { wooon } g4 mmm= Lt BA EHEZ 109 {;g - ;g} 5o twwk EX ¥
35 — 25 R =R 21 — 9 s H—
24 — 14 S 25 — 16 FE
WA= 99 { 2 1 } 51 mew SR oqrmEm o {f‘j - } 61 twp= IR
28 — 10 BHE EH 3% — 8 Ky &
3R B kio 3 -4
31 — 18 FE 20 — 6 I% B
mow o {;; - ;g} o wmEs T | gme g {gg - f;} o Lk RN
11— 20 v L 13 — 16 BE HE
R B R B
25 — 20 £ 12 — 22 B
LEES 109 { 2 - 18 } 85 tmTx AR OB oqrmEm e {; - o } RS =R
36 — 27 B Al 29 — 7 RF B
RPEBFRE RBRPELXFRE
TH AARFEREFER TH B ARRFEEFR
#E THE—EEEK #E
Tl LB _mBER Bl [ REEBRAEREER
Fafr L TREES AR F2fr o I 5
E3l BrifEEER E3f ITHE=-"R%®




